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Subatitution and. germudoe
Saquences. and gropha
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Sequence — a particular order v which related
terms follow each other

Livear sequevce — a sequevces which
ncreases/decreases by the same amount each
time
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i (aeneral form of a quadratic eauation

P The general equation of a quadratic isy = 2x® + bx + ¢, where a, b and ¢ are all sonstant values, The +6 represents the

¢ intercept and tells us where +he graph will eross +the y-axis

If Hie a is positive, He graph will form a u shape

The graph is a smeoth

If the a is negative the graph will forin a n shape

H curye between each point

and 15 called a parabola
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Tip - examiners +ell schools et metlod 1
wzaally has a higher suctess rade in an exam
Haan method 2, does!
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